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Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 26

Instructions for the Candidates

Write your roll number in the space provided on the top
of this page.

Answer to short answer/essay type questions are to be
given in the space provided below each question or
after the questions in the Test Booklet itself.

No Additional Sheets are to be used.

At the commencement of examination, the question
booklet will be given to you. In the first 5 minutes, you
are requested to open the booklet and compulsorily
examine it as below :

(i) Tohave access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not
accept an open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced
immediately by a correct booklet from the
invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given.

Read instructions given inside carefully.

5. One page is attached for Rough Work at the end of the

booklet before the Evaluation Sheet.

If you write your name or put any mark on any part of
the Answer Sheet, except for the space allotted for the
relevant entries, which may disclose your identity, you
will render yourself liable to disqualification.

You have to return the test booklet to the invigilators at
the end of the examination compulsorily and must not
carry it with you outside the Examination Hall.

8. Use only Blue/Black Ball point pen.

0.

Use of any calculator or log table etc., is prohibited.

1.

2.

wenterat & ferg fee
TES IS % SR [T T W I e 7R fAfan |

Y U9 AT e WRR % e o ST, Uedh U9 & A 4T
T o 1% 52 U e e W & fafed |

T4 T =12 atfafea s s ST A & e |

TRV YRR B W, T9-GfETehT STT0eh!  SF ST | et g
fHee 3TTeR! Te=-UfashT WieH aeT 3He! FEfated sig &
foru 52 ST fSTreh! Sirer TRt 7ared il €
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HI HEAT Bl FeSt AE AH B oA 6 A W E | Froget
TfeenT e Yo/ o B AT T T T & A HRae
H 2 ot foRt oft wehR i Afequt gRaewt wier T
HE AT I AT T TR TG W W THA Tt
TH-URAHT A S | 39 foTg imuest vt free e wmn |
I ST A SATYR TIA-GRABT aTIH ot AR R T
&t arrast rferfeer wwa fear s |

3T 2 T T B e 0e |
SW-YRHI & 31 § sHedl & (Rough Work) & & ferw
A Te | veet U6 TS A gan € |

e 31T ITR-YRAHT R ST0T A1 I7 Ty i oFf fem o
TR TEe &l ok, fedl STt T OR S AT Sifehe el & ot
WA % ferd v St e f52 S |

TeRT TRIETT THT B TX TR -YReehT F-{1eTeh Heiqd shi eAlerT
FEYTH & AN T T THI & 18 370 i Gel o 9§
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Note : This paper is of two hundred (200) marks, containing four (4) sections. Candidates

are required to attempt the questions contained in the section.

MS:  TE UGS ST At (200) 37ohT 1€ TS THH AR (4) T & | AT bl 38 THIied W91 o 3T
37T 2t T o Feem o STER ST ¢ |
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Note :

e :

SECTION -1
Tgug -1
This section consists of two essay type of questions of twenty (20) marks each, to be
answered in about five hundred (500) words each. (2 x 20 = 40 marks)
TG T H SrG-a® 37ehi o G [o-uTcHsh U9 & | Ucdeh ol SR ol Ui | (500) vr=si
FATTE | (2 % 20 = 40 37H)

What are the causes of recent global financial crisis ? What has been its impact on
growth, employment and money markets in India ? Describe the measures adopted in
India to combat it ?
BT &l & favaemd! famdia ehe & ROT 941 € ? T9HT YR H Hafeg, ISR T HoT SSIRT TR
T TS TST 7 Tk A S o {olT 9YRe = ST 3T foft € a1 Sooid hifsTy. |

OR / arean
Describe the major new economic reforms introduced in India since 1991. Also
examine their effects on the performance of different sectors of the Indian economy.

TRA F 1991 T ST 7T o 3Tk GUR T T IhT Seoitd i 3R TTTT o 149 &3
TSIIRT OX 3ok M7t ot URIeTT ity |

J-0110
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Differentiate between foreign direct investment and portfolio investment by foreign
institutional investors. Discuss the factors that determine foreign direct investment
inflows in a developing country, like India.

foremt wezrer Toarer e faeett wieenten fHaemen §RT fohd STH ot diewiferar faet & s 3’
T | AR S foreprasiier 397 & foen weret faeT et<iae ol 9 § sRe [Huiid s & 2
OR / 3reqar

Explain the growth and productivity trends in Indian agriculture since 1991. Also
suggest measures to improve productivity of agriculture in India.

IRA HY H 1991 ¥ Tgfg Ud SRHAT i Ughadt s AR HISW | 9RA § F h
LA H GER A o 3UTT off Germea |
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J-0110 7 P.T.O.



J-0110



SECTION -1I
gug - 11
Note : This section contains three (3) questions. From each of the elective/specialization,
the candidate has to choose only one elective/specialization and answer all the three
questions from it. Each question carries fifteen (15) marks and is to be answered in
about three hundred (300) words. (3 X 15 = 45 marks)
MS: WS U UAH U gohrs / fowiosrar @ i (3) Ue- € | 37erell ol shalol Ueh Ufeseh 3ohTs /
ToSTIRTeT <l g ST o AT U1 T STR AT € | Uedeh U9 U=ge (15) 37hi T € o SHH

ITR T o HY (300) VT H ST | (3 x 15 = 45 3i®)
Elective — 1
famea -1
3. What is meant by multicollinearity ? How does it affect the OLS estimation process ?

Discuss the two methods of detect it and suggest the remedial measures.

TEEGRAT T T 37 & ? Tg 3T.UA.TH. STehel WichaT i [ohdf FehR WATfer hielm & 7 STeh!
TEH X o ToTU 3T Tatrdt ot foaemT shiteie 3TR Ul 3Urd Jiarsy |

J-0110 9 P.T.O.
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(i)

(i)

(ii)

@)
(ii)
(i)
(i)

Explain the effects of applying the single equation estimation method to an
equation belonging to a system of simultaneous equations model. Also discuss
how the quality of parameter estimators is improved through the application of
an alternative method of estimation.

Consider the following model, given in deviation form :
yi=by,tu......... (1)
Yo =€y HCoX  +C30 + V. (i1)

Use data, given in deviation form, below, and apply the two stage least square
method to estimate the first equation :

y;: =5 0 3 2
Vi 2 3 1 -6
x: -2 -1 0 3
X0 -2 3 -2 1
FATUE FHIHROT TEeT o FHISHOT TR Tehol GHIHUT SMheT- UGId ohi ST o Terat

Y ST FHITTT SR TR i Seh ook Tl bl TGfeRT o HIEAT T Wl 3Theteh i
TUTeT R TR e &, faeeT i |

ferarer & &0 ¥ feu =i dieer 13 -
Yy =by,+u . M
Yo =C1Yp HCoX  +C30 V. (i1)

e, forae o &9 | U 31RS 1 TART Y 3R T THIGHT I 3The A & foau
T5-TeR = o Ui (T ST TR TR T ST Y

y;: =5 0 3 2

Vi 2 3 1 -6

x o -2 -1 0 3

X,: -2 3 =2 1

What is a dummy variable ? Explain its use in capturing a change in a slope
co-efficient in a regression model. Use an illustrative example.

What do you understand by unit roots ? Discuss their uses in time series
analysis.
Teh AT AT = 1 & 2 Tl Higer | JeEuTal Ot | qRee ST % o 39k
T Sl ST ST | TR0 6 ST G TR0 |
e ®eq ¥ 31T T GHAA & ? FHIeA-SI01 ToreetsoT § 36k ST i e it |
Elective — 11
fammew - 11

What do you understand by decomposition of price effect into substitution effect and
income effect ? Show diagrammatically, how it can be applied to compare cash relief
with the subsidy involving equivalent cost.

I TS F WA TS T 3T T H e § o1 ar wHewt € 2 ot o weraer 9
TUMeY foh 7IE Wed AT THIH T ool ATt Jodi W oy ucTedl S i ST i

Tt H TR R WP STV Tohall STt & 2
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Explain how does Samuelson’s accelerator-multiplier interaction generate trade cycle.
T hl ReB-T[0Teh STATShaT Tohe Feh R SATIR 5hi 3hT Scd=T hicll & ? ST HiTSTT |
Explain the Harrod Domar conditions for warranted rate of growth.
T (AT GHTH) FFTeg TR h o7 ERIS-SITR 9T i T T |

Elective — 111

famew - 111

Discuss the collapse of Brettonwoods system in 1971.
1971 B SIS SaeT % U g i faa=mT1 it |
Discuss emergence of world trading system and the main reasons for its distortions.
fova FRERT ewT o 370 Bl 3R IWH! faspiaai o foTu IR g HRol Ht foeemn
T |

What were the characteristics of globalization in the first phase ? Explain their impact
on export sector of the developing countries.

SYEEHIUT 3 T TROT ohi ST TaedTd off ? ferepraeiicr <31 o AT S5 W Sk usre Wi
T T |

Elective — IV
fasea -1V

What is agricultural price policy ? How is it useful to control the market prices in
India ?
T HITT AT T & ? TR § SR SHHaT bl (A= e o o1 I8 o TehR TTevg € 2
How does WTO help sustainable agricultural development in India ?
IR H YR Y foehr 1, fova =R Gme (WTO) o TehR et Sar & ?
Briefly explain the role of agrarian reforms in agricultural development in India.
TR T HI b H ik a7 -Gt GURT T AT Sl TelT T SARAT HITT |

Elective - V

fawer -V

‘Economic planning in India has failed to achieve its major objectives.” Discuss.

What changes in strategies would you recommend for making economic planning
more effective in a liberalized economic environment in the country ?

“qRA H 37T FESH o109 g SR9El ol W R § 3% @l € 17 faaeer wifse 1 swr H
AT TR 3T ATATEROT H AT THTGMA 3T AT T o fTw 3179 3/ errer <77 2
Critically examine the salient features of strategy of poverty alleviation adopted in
India, since independence.

AT o 1% ¥ IRA | HE9a1 79 A o folu 319HTE 0TI sht i Tarsasti oht qtet
& ST |
Describe the main financial sector reforms undertaken by the Government of India

since 1991. Examine their impact on the development of the banking sector and
capital markets in the country.

TR ! THR R 1991 T =15 F TohT MU To=iiar &1 o GURI T S0 BT | 9T H SR &
el ST STSTRT O 3 W7 ht ORI i |
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SECTION - 111
gug - 111

Note : This section contains nine (9) questions of ten (10) marks, each to be answered in
about fifty (50) words. (9 x 10 = 90 marks)

qMS: UGS T T@-T] (10-10) 37T & At (9) W € | Uk U ol TR T T=md (50) 9151 |
AT | (9 x 10 = 90 i)

6. What are the main points of Baumol’s Sales maximization model of the firm ?

T o ST [k STIhaHIhoT Higet shi Jied o T 8 2

J-0110 17 P.T.O.



7. Why does the IS curve slope down ?
farr-srere (IS) o5k ol @TeT Al ht 7R 1 el € ?

8. Define and distinguish between inclusive economic growth and the economic
development.

STATM TR Tty 3T ST [T & S 3R HITSTY 3T SHeb! WA HITTT |

9. State the main recommendations of the Twelfth Finance Commission of India.

IRA & 129 fa ST 6t Wi 1 oo i |

J-0110 18



10. How is monetary approach to Balance of Payments different from traditional
approach ?

YA Yot & YRANE SURTH F Hifgsh ST fohd Tehr f=1 & 2

11. State main contents of Sergeant Florence theory of industrial location.

ST AT ht WIS FART SART 3t G [T aIdTeu |

12. Explain environment as a public good.

HASIeh %] o © H YATER0T Shi SRS i |

J-0110 19 P.T.O.



13. What are the problems of agricultural labour in India ?

IR | i 5 o gaeEd FE ?

14. The lines of regression of a bi-variate model are :
8x— 10y + 66 =0 (y on x)
40x — 18y =214 (xon y)
The variance of x = 9. Find
(a)  Mean values of x and y
(b)  Correlation coefficient between x and y
(c)  Standard deviation of y
TR IO Higel ! 1@ &
8x—10y+66 =0 (xWy)
40x — 18y =214 (y W x)
X R JEOT =9
BT
(a) xR y & W1 0o
(b)  x 3Ry & T T TOTH
(c) y U faaeH

J-0110 20



SECTION -1V
gug -1V

Note : This section contains five (5) questions of five (5) marks each based on the following
passage. Each question should be answered in about thirty (30) words.
(5 x 5 =25 marks)

AT Y Y T URE % SMYR W U YT o St T | Tedieh U9 o1 ST i (30) TS d
Tk Fel EFT =T | Tedeh U9 Uer 3fehi 1€ | (5 x 5 = 25 3®)

Economics is a study of men as they live and move and think in the ordinary business
of life. But it concerns itself chiefly with those motives which affect, most powerfully
and most steadily, man’s conduct in the business part of his life. Everyone who is
worth anything carries his higher nature with him into business; and there as
elsewhere, he is influenced by his personal affections, by his conceptions of duty and
his reverence for high ideals. And it is true that the best energies of the ablest
inventors and organizers of improved methods and appliances are stimulated by a
noble emulation more than by any love of wealth for its own sake. But, for all that,
the steadiest motive to ordinary business work is the desire for the pay which is the
material reward of work. The pay may be on its way to be spent selfishly or
unselfishly, for noble or base ends ; and here the variety of human nature comes into
play. But the motive is supplied by a definite amount of money : and it is this definite
and exact money measurement of the steadiest motives in business life, which has
enabled economics far to outrun every other branch of the study of man. Just as the
chemist’s fine balance has made chemistry more exact than most other physical
sciences ; so this economist’s balance, rough and imperfect as it is, has made
economics more exact than any other branch of social science. But of course
economics cannot be compared with the exact physical sciences : for it deals with the
ever changing and subtle forces of human nature.

A ATl ol T &, T YR U & WROT S SHaar™ § i id &, 9o © 3%
3T TG € | TR~ ST TR T 3 VST G & ST HIHa STia ohi a1 Tiararaai
ﬁw&swﬁwﬁﬁmwaﬂwwﬁmﬁaﬁ@mw% | Yk sAfed, o
T AT & 27T ITcR WG b 3O ATIIIe Tiara el § YE T &; AR Ui Se
i TE T &1 o, o ST JATekIeh THS, 3O el o H1d e 310+ 3o 3TEI0 o Uid
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T R UG & & | 31X I8 Ted § o |aitush 31d Usiaal Ud SUevi & ang
SMMASh R 3R TATSTehT Tht SIS AT ST T FRT SR il & 7 7o T Jara & fofd &
Tordlt TR o U §RT | IR 91 Waleh @it gU Y, e o ATeRoT SATaieh i o i 3Tcafeh
R TS 39 A, S i S HT Jifds TRATNS €, & o0 39T § | 39 uIiRaies a1
AT SRl TATAYOTAT AT {7 %I o |1, S a1 Fe A8t o foTd @ o ST gehel & 3R
TET A T hi Tafererl s shicl € | TR Fis bl SROT € <t ¥ A 51 & g
et €, 3R Sfe & R @ 8 (eiia waismi & 7 FHived ud g2 Hitgen a1 8 ¢,
ST T = T & 3Te hi 3T Uedieh VIRl b1 Ui ©Ts feam & | 59 wehR & TemaTait
% GeH e = T T i 37 STTehieT STk o=t ol qotT | SAT&T 9eish o1 ST &;
3T YR TRNIETET T T8 GeJor, 3T Ue 37q0T, ST off &, 3 79It ol qHSTOmET bl
Tohaft ot 3T VT Bt il W STRT Wik o1 fqam & | W), Fie, Wik ifeh fasii o arer
STV I T &l i ST Wehell &; ik T8 AT Ui i TR IRAGN 3R SAfeet
e Q@ e WA |

15. What motives of men’s ordinary business of life constitute the subject matter of study
in economics ?
HeHRTAT % WTUROT STie AT o i T IR 29T TR o 3T o (o5 T ¢ ?

16. Do you agree that personal affections, conceptions of duty and reverence for high

ideals are stronger stimulants than love of wealth for its own sake in the life of every
man ?

T 3T GEH & o shael & & Uid Hig hi 30T ol 06, 37041 Sholea -3 9ia a2 3704
I ST & Uld GH, Yedeh Ao o Sfia o 3114k Jeol Ieh & 2

J-0110
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17. What is the steadiest motive to ordinary business work in the life of human being ?

el o WTROT S{tel SHerdTd o shit ohT Feanreh (/i vaem s e ?

18. What has made economics more important than other branches of study of men ?

A o ST i 31T SIS Bl JoiT | TR hi [Shd ST = STET Heaqu] o7 f5ar & 2

19. Why economics can not be compared with the exact physical sciences ?

STV <l JoTT 3 Weleh HicTeh forsTT o T 3Rl 78T bt ST Hehell & 2

J-0110 23 P.T.O.
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